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HEERA RC-40,t=150 0.900 x 0.900 m?2 0.810
1EEXT
KB WEL 1.80 X 1.80 X 0.70 m3 2.268
HBERL BEL 2.268-(0.90 X 0.90 X 0.15+0.80 X 0.80 X 0.55) m3 1.795
HEEE 0.900 X 0.900 m3 0.810




LRIV(IERD) s

LAJL2ATHE) $HET

LALSEED | LAILAGEED L~ L5GRH) | P B B K # &t [t {rs
FARI7IVNGEET = m2
THEEEIE (FHEMIBEE. HEMRIE. m2 m2 & &t 1,288.2 1,288.2 0.0 0.0 0.0 0.0
BRMELERE] =i 1,288.2 1,288.2
438 0.0
34 BEIFYIY—FY, RC-40, m2 m2 & &t 14443 14443 0.0 0.0 0.0 0.0
t=15cm =il 1,444.3 1,444.3
=E BAMKET X3, t=5cm m2 m2 & &t 14443 14443 0.0 0.0 0.0 0.0
HE W>3.0m 1,444.3 1,444.3 W L1
1.4m=<W=3.0m 0.0
W<1.4m 0.0
IS4 La—k m2 m2 & &t 14443 14443 0.0 0.0 0.0 0.0
PK-3 1.28/m2 HiE 14443 1,444.3
#HiE 0.0
aVY)—MEET = m2
ez m2 m2 & F 57.4 57.4 0.0 0.0 0.0 0.0
BHEY797%—74(RC-40) =i 0.0
t=15cm HE 57.4 57.4
F54 La—k m2 m2 & F 574 574 0.0 0.0 0.0 0.0
PK-3 1.20/m2 ] 0.0
#iE 57.4 57.4
Ay — s m2 m2 & F 57.4 57.4 0.0 0.0 0.0 0.0
0 ck=18N/mm2 HiE ANEhE% 0.0
t=10cm 43 AN 57.4 57.4
A m m & F 04 04 0.0 0.0 0.0 0.0
{diE E 3 B=10mm h=70mm HEEt=Tcm 0.4 04

0.0




MO T ¥ & AN
=4 &
Aol B BT ]
St FRALIX & &
m2 1, 288. 1, 288.
x 8 FAMALEAs t=5em m2 1, 444. 1, 444.
i RC-40  t=15cm m2 1, 444. 1, 444.
TI A ha—h PK-3 (1.20/m2) m2 1, 444. 1, 444.
= =] a7 U — MEZE t=Tcm| m2 57. 57.
B RC-40  t=10cm m2 57. 57.
54 sa— |k PK-3 (1.20/m2) m2 57. 57.
H £=10mm m2 0. 0.




LRIVI(IERS) ERHEB LARJL2ATFE) AREEIE

Pazasd 3 =
% = TREEEIE ¥ EGGFEE (1)
) - AR E (WF)
i A BB — —
& R [ETI - I R [T o= R | [T =t R [T 5=

NO. 7+84. 385 0.00 4.02
NO. 8+00 15. 61 4.02 4. 02 62.8
KA6-1
(NO. 8+15. 595) 15. 60 4.02 4.02 62.7
NO. 8+20 4. 40 4.01 4. 02 17.7
NO. 8+40 20. 00 0. 00 2.01 40. 2
KE6-1
(NO. 8+49. 345) 9. 34 3.75 1. 88 17.6
KE6-2
(NO. 8+53. 932) 4.59 4. 06 3.91 17.9
NO. 8+60 6.07 4. 06 4. 06 24. 6
NO. 8+80 20. 00 3.50 3.78 75.6
NO. 8+84. 26 4. 26 3.50 3.50 14.9
KA6-2
(NO. 8+87. 682) 3.42 5.19 4.35 14.9
NO. 8+89. 32 1.64 3.73 4. 46 7.3
NO. 9+00 10. 68 3.73 3.73 39.8
NO. 9+9. 32 9.32 3.73 3.73 34.8
NO. 9+14. 28 4. 96 3.35 3. 54 17.6
NO. 9+20 5.72 3.35 3.35 19. 2
NO. 9+40 20. 00 4. 00 3.68 73.6
KA7-1
(NO. 9+48. 532) 8.53 4. 00 4. 00 34. 1
NO. 9+60 11. 47 4.02 4.01 46. 0
KE7-1
(NO. 9+75. 754) 15. 75 4.28 4.15 65. 4

N F 191. 36 686. Tm2 0. Om2 0. Om2 0. Om2




LRIVI(IERS) ERHEB LARJL2ATFE) AREEIE

% = REEEIE M E FEE (2)
} . AREdEIE (WF)
i A BB — —
& R [ETI - I R [T o= R | [T =t R [T 5=

KE7-1
(NO. 9+75. 754) 0. 00 4.28
NO. 9+80 4,25 4. 46 4,37 18.6
KE7-2
(NO. 9+88. 147) 8. 15 4.98 4.72 38.5
T-NO. 2+80 12.57 4. 00 4. 49 56. 4
T-BC5-0
(NO. 2+92. 68) 12. 68 4. 00 4. 00 50. 7
T (NO. 3+00) 7.32 2.82 3. 41 25.0
T.(NO. 3+8. 5) 8. 50 4. 00 3. 41 29.0
T (NO. 3+20) 11.50 5. 49 4,75 54.6
N
(NO. 3+33. 5) 13. 50 7.00 6. 25 84. 4
T (NO. 3+40) 6. 50 7.00 7.00 45.5
T.BC6-0
(NO. 3+47. 403) 7.40 7.00 7.00 51.8
T (NO. 3+60) 12. 60 7.00 7.00 88.2
N
(NO. 3+74. 1) 8. 40 7.00 7.00 58. 8

N E 113. 37 601. 5m2 0. Om2 0. O0m2 0. Om2

& 3 304. 73 1288. 2m2 0. Om2 0. 0m2 0. Om2




LRIVI(IERS) ERHER LANJL2ATFE) BEHEHLE
% = BEE M E B E E ( )
#J& (t=5cm) B&A% (t=15cm)
WA | B 1
W E W | Eo|E | @R oy m Yo m

NO. 7+84. 385 0.00 4.02 4.02

NO. 8+00 15.61 4.02 4. 02 62.8 4.02 4.02 62.8
}Egg.}l@ﬂ& 595) 15. 60 4.02 4.02 62.7 4.02 4.02 62.7
NO. 8+20 4. 40 4.01 4.02 17.7 4.01 4.02 17.7
NO. 8+40 20. 00 4. 05 4.03 80. 6 4. 05 4.03 80.6
Iéﬁg._il%ﬂw. 345) 9. 34 4. 06 4. 06 37.9 4. 06 4. 06 37.9
]EI]::I?)T;BS. 932) 4.59 4. 06 4. 06 18. 6 4. 06 4. 06 18.6
NO. 8+60 6. 07 4. 06 4. 06 24.6 4. 06 4. 06 24.6
NO. 8+80 20. 00 4. 00 4.03 80.6 4. 00 4.03 80.6
NO. 8+84. 26 4. 26 4. 00 4. 00 17.0 4. 00 4. 00 17.0
]EI/\XI?)T§+87. 682) 3.42 5. 69 4. 85 16. 6 5.69 4. 85 16. 6
NO. 8+89. 32 1.64 6. 50 6. 10 10.0 6. 50 6. 10 10.0
NO. 9+00 10. 68 6. 50 6. 50 69. 4 6. 50 6. 50 69. 4
NO. 9+9. 32 9. 32 6. 50 6. 50 60. 6 6. 50 6. 50 60. 6
NO. 9+14. 28 4. 96 4. 00 5.25 26.0 4. 00 5.25 26.0
NO. 9+20 5.72 4. 00 4. 00 22.9 4. 00 4. 00 22.9
NO. 9+40 20. 00 4. 00 4. 00 80.0 4. 00 4. 00 80.0
IEII\\I(Y)TEIJMS. 532) 8.53 4. 00 4. 00 34.1 4. 00 4. 00 34.1
\IO 9+60 11.47 4.02 4.01 46. 0 4.02 4.01 46. 0
121%1(7).7;75, 754) 15.75 4.28 4. 15 65. 4 4.28 4. 15 65. 4

N F 191. 36 833. bm2 833. bm2 0. Om2 0. Om2
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% = BEE M E FEE (2)
} » )& (t=5cm) WA (t=15cm)
i A BB — —
& R [ETI - I R [T o= R | [T =t R [T 5=
KE7-1
(NO. 9+75. 754) 0. 00 4. 28 4. 28
NO. 9+80 4,25 4. 46 4.37 18.6 4. 46 4.37 18.6
KE7-2
(NO. 9+88. 147) 8.15 4.98 4.72 38.5 4.98 4.72 38.5
T-NO. 2+80 12.57 4. 00 4. 49 56. 4 4. 00 4. 49 56. 4
T.BC5-0
(NO. 2+92. 68) 12. 68 4. 00 4. 00 50. 7 4. 00 4. 00 50. 7
T (NO. 3+00) 7.32 4. 00 4. 00 29. 3 4. 00 4. 00 29.3
T.(NO. 3+8. 5) 8. 50 4. 00 4. 00 34.0 4. 00 4. 00 34.0
T (NO. 3+20) 11.50 5. 49 4,75 54. 6 5. 49 4.75 54. 6
N
(NO. 3+33. 5) 13. 50 7.00 6. 25 84. 4 7.00 6. 25 84. 4
T (NO. 3+40) 6. 50 7.00 7.00 45.5 7.00 7.00 45.5
T.BC6-0
(NO. 3+47. 403) 7.40 7.00 7.00 51.8 7.00 7.00 51.8
T (NO. 3+60) 12. 60 7.00 7.00 88. 2 7.00 7.00 88.2
N
(NO. 3+74. 1) 8. 40 7.00 7.00 58. 8 7.00 7.00 58. 8
N E 113. 37 610. 8m2 610. 8m2 0. O0m2 0. Om2
& 3 304. 73 1444. 3m2 1444. 3m2 0. 0m2 0. Om2




£} & BEHE@O VYY) — MR M E G EE (1)
B _— KE (=7 Y — M) t=Tem | B (FAEYLANA) t=10em | 7T A L=— bk (PK-3) (1. 20/m2) fhiffs B # (b=10mm, h=70mm) p
3] i T
NI ] [T =t ¥ oA NI ] oA LR
HEERE 57. 4 ||A=57. 4m X 1. Om=57. 4m2 A=57. 4mX 1. 0m=57. 4m2 A=57. 4mX 1. 0m=57. 4m2 L=57. 4m2 -+ 10m X 0. 07m=0. 4m2
A= 57. 4m2 A= 57. 4m2 A= 57. 4m2 A= 0. 4m2
& it 57.4 57.4 m2 57.4 m2 57.4 m2 0.4 m




LU (LHEXSy)  JEREE LoV (TRE)  BhEM T
LAJL3GER) LA JLAGER) LA JLS(RAE) wbo ik LR g X # adt IR #
PhLEAR T =® m
BB AR AR m m & &t 57.4 57.4
H=1.1m 57.4 57.4
0.0




BRERUEMH=1.1m . & =R

y {81 A {81
iz = TR AR i3] = v B TR i3]
NO.8+79.0~N0O.9+34.1 57.4
B =I 57.4
& i 574/ m




s % A% Bh B H=1.1m BHEE

e EEBLE
&
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LR
[~ 4
g
10m 2472
f Bl % H = EEiva BN 720
B =

SRR RG LA H=1.1m m 10.000




LUV (LFEXSy)  EREE LoyL2 (LFE)  fEEms L
LA LAGERD LA LAGERD LR ILSGRAR) Ry B B K ait e W%
ERAEYHET =
TV AREER) m m & &t 310.5 3105 0 0 0 0
3105 3105
0.0
0.0
0.0
0.0
BEYRELT fa
%‘ff”‘”ﬁﬁ%ﬁy m3 m3 & &t 193 193 0.0 0.0 0.0 0.0
EERREY H<-5m 19.3 19.3 HIETE@mISLDES
-5m=H=5m 0.0
5m<H 0.0
SHERREEL [FHEERRTER . SHEERRE] m2 m2 & & 990.9 990.9 0.0 0.0 0.0 0.0
FAI7ILEEEERR t=5cm BT t=10cm 990.9 990.9 4-16  |vHEhRES
10cm<t=15cm 0.0
15cm<t=35cm 0.0
35cm<t=40cm 0.0
SRR L m m & &t 8.1 8.1 0.0 0.0 0.0 0.0
T RAI7ILMBERR t=20cm 8.1 8.1 tEEhREE
t=5cm 20cm<t=40cm 0.0
EfgET = m3
BB RN EHIALY)—5E m3 m3 & &t 19.3 19.3 0.0 0.0 0.0 0.0
193 19.3
0.0
FRI7IVE m3 m3 & F 495 495 0.0 0.0 0.0 0.0
495 495
0.0
BI5 5 4E R iEk TR (&) m m A F 310.5 3105 0.0 0.0 0.0 0.0
3105 3105
0.0




LoV (LX) HE LoL2 (L) 27 U — Mtk
£ = BEMEHEL M E
‘ N avr ) — Mk B
b =3 PRk i
A O] VAR 5 hva RV -
NO. 7+84. 385 0. 00
NO. 8+00 15. 61
KA6-1
(NO. 8+15. 595) 15. 60
NO. 8+20 4. 40
NO. 8+40 20. 00
KE6-1
(NO. 8+49. 345) 9.34
KE6-2
(NO. 8+53.932) 4.59
NO. 8+60 6.07
NO. 8+80 20. 00 0. 05 1.0
KA6—-2
(NO. 8+87. 682) 7.68 0.10 0.8
NO. 9+00 12. 32 0.15 1.8
NO. 9+20 20. 00 0. 20 4.0
NO. 9+40 20. 00 0.10 2.0
KA7T-1
(NO. 9+48. 532) 8.53
NO. 9+60 11. 47
KE7-1
(NO. 9+75. 754) 15. 75 0.10 1.6
NO. 9+80 4. 25 0. 20 0.9
KE7-2
(NO. 9+88. 147) 8.15 0. 30 2.4
N 203. 76 14. 5m3
b S * =
% % HEHE T H B




LAV (LHFERXS)  ERGE LoUL2(TFE) v 7 U — MM
} B a7 U — Mk -
I R PR — — — — fii
Co (P) ¥ RV R 5| RV =i ¥ RYAR =i NI ) RYAR =i
KE7-2
(NO. 9+88. 147) 0. 00 0.4
T.NO. 2+80 12. 57 0.0 0. 20 2.5
TBC5-0
(NO. 2+92. 68) 12. 68 0.1 0.05 0.6
T (NO. 3+00) 7.32 0.1 0.10 0.7
T (NO. 3+20) 20. 00 0.0 0. 05 1.0
T (NO. 3+40) 20. 00
TBC6-0
(NO. 3+47. 403) 7.40
T (NO. 3+60) 12. 60
T.(NO. 3+74. 1) 14. 10
/N E 106. 67 4. 8m3
& i 310. 43 19. 3m3




LUV (EEHEXSy) ERWE LAUL2(THE) 7 A7 70 M
5 e BEYREL % 2 FH BE E ( )
il - T A7 7V MR t=5cm EliZERR BT (t=5cm) EHAERREIWT (t=5cm) i
il H T
AsG) | T 8| E B T8 SER T8 SER oy o
NO. 7+84. 385 0. 00 5.92 4.0
NO. 8+00 15.61 5.92 5.92 92.4
KA6—1
(NO. 8+15. 595) 15. 60 5.93 5.93 92.5
NO. 8+20 4. 40 5.99 5. 96 26. 2
NO. 8+40 20. 00 4. 66 5.33 106. 6
KE6—-1
(NO. 8+49. 345) 9.34 3.98 4,32 40. 3
KE6-2
(NO. 8+53.932) 4.59 2.48 3.23 14. 8
NO. 8+60 6. 07 2.63 2. 56 15.5
NO. 8+80 20. 00 3. 06 2. 85 57.0
KA6—2
(NO. 8+87. 682) 7. 68 2.88 2.97 22.8
NO. 9+00 12. 32 2.88 2.88 35.5
NO. 9+20 20. 00 3. 05 2.97 59. 4
NO. 9+40 20. 00 3.54 3. 30 66. 0
KA7-1
(NO. 9+48. 532) 8.53 3.41 3. 48 29.7
NO. 9+60 11.47 3.41 3. 41 39.1
KE7-1
(NO. 9+75. 754) 15. 75 3. 66 3.54 55. 8
NO. 9+80 4. 25 3.75 3.71 15.8
KE7-2
(NO. 9+88. 147) 8.15 5.25 4. 50 36.7
/N B 203. 76 806. 1m2 4. Om




LI (LERERXSy) B E LUL2(TfE) 7 A7 7V Mz
£ = BEMEEL B =E BT BE E ( )
. N T A7 7 v NMfEERZE t=5cn EhZERR BT (t=5cm) B
i =} PRk - i
As (5) ¥ [T = A TR NI ] SLOFH R ST
KE7-2
(NO. 9+88. 147) 0. 00 5.25
TNO. 2+80 12. 57 4.63 4.94 62.1
T.BC5-0
(NO. 2+92. 68) 12. 68 3.87 4.25 53.9
T (NO. 3+00) 7.32 3.99 3.93 28.8
T (NO. 3+20) 20. 00 0.00 2.00 40. 0
T (NO. 3+40) 20. 00
T.BC6-0
(NO. 3+47. 403) 7.40
T (NO. 3+60) 12. 60
T (NO. 3+74. 1) 14. 10 4.1
NFF 106. 67 184. 8m2 4. Im
& it 310. 43 990. 9m2|V=990. 9 X 0. 05= 49. 5m3 8. Im




JzVARWEE K O O£

x il A 1l
iz & iE R-& P i = iz B iE R-& Fr i
NO.8 + 0.0 TENO03 + 43 227.4 TENC+ 103 ~TZENO0.3+69.6 735
NO.9 + 52.2 9.6
g 237.0 £ & 735
a8 & 3105
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(AG-2A=45. 0DOL=33. 750
0. B+87 68Z)
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|7 = AfHE =9, 6m
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